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36. 3YNT 03P TewT SN2 (Which statement below is false?)

a) Monitor Qe Output 03393R0 Softcopy SN, (The output

given by the monitor is always softcopy.)

b) Printer Qe Output 03@zoNed Hardcopy ©NTET. (The output

given by the printer is always hardcopy.)

c) ASWN WYF [TPEETE WISeE Printernisd Input cum Output
ARTTI0N FTORFATFLAES (Printers in recent use act as input cum

output devices)

d) Printer 53 Scanner n¥R Standard Input Devicen$ow

FooReem8a. (Printers and scanners are known as standard input

devices.)



37. 30TRWT I ¥ [N FTH cdwYd? (What is the fastest memory

in a computer?)
a) RAM
b) Cache
¢) ROM

d) Hard Disk

38. rﬁsa%ofnog@& RowoRATOZ Flow ChartsQ &30 e ©033 (Oval Shape)
B, 03 FONFF, WYRPMOZT? (For what purpose is Oval Shape used

in Flow Chart related to computer?)

a) TWOBFFFNT &TOY /Y e.—oo% (Beginning and end of the program)
b) B20T TEODL =B JeweD (To get and give data)

¢) Reerod FRYed (To make a decision)

d) 20edT Yt ©Q (None of the above)

39. (7F) 1520 QWS S 03weycd? (What s its binary form of

(TF)16?)
a) 1010100

b) 1110001



c) 1111111

d) 0101011

40. B WHT [PEWN I BEOF VISP X WIT 3RS 0D
3e3Q qdEB? (In which key of the keyboard is the letter & of the

Kannada alphabet when using Nudi?)
a) Shift + x

b) s

c) Shift + s

d) x

41. eeBONOZT FTFHN FOLOPATOZ STHETED TTBYTE FOCIRT
eﬁoﬁ%ojamol n8FA. (Identify the correct option in ascending order with

respect to computer memory.)
a) TB, MB, GB, KB

b) KB, MB, GB, TB

c) TB, GB, MB, KB

d) KB, TB, MB, ZB



42. CPU SBen==), 9030w (Measuring CPU speed in)

a) T2 AFOT R QTF NROSRTT @¥FNY (Clock cycles per second)

b) TS BEEe Ao 1} QT NROIPTT 3R (Clock cycles per

microsecond)

c) TS TS FFOw 1t QTT NRAIWTT 233Nd (Clock cycles per

nanosecond)

d) 20edT PP ©Y (None of the above)

43. 30088 Neos 0NOZNT TOFEET BATV.vwvern (Symbol Name of Personal

Computer Machines........ )
a) MC
b) PD
¢) PC

d) SC

44, FINIPYINYSO 030z3c> Mobile Operating System NS (Which of the

following 1s a Mobile Operating System?)
a) Linux

b) 10S



c) Windows

d) All of the above

45. ZPRRET JTeD 2yh0dedn BRTRDN FTY IVHNRYAT 89
FINS PRONYY FOIPNTORTS)Y, M2 (Identify the correct one of the
following networks arranged in descending order within geographic area

range)

a) LAN-WAN-MAN
b) WAN-LAN-MAN
c) LAN-MAN-WAN

d) WAN-MAN-LAN

46. Recycle Binit 30200T08 F$NT 03w 3e9d 8O (Which of the

following statements regarding Recycle Bin is correct?)

a) Delete 8T O NsH Recycle Bin 39 soz9d3men ZoRmmoNIdIs.

(Deleted files are temporarily stored in Recycle Bin.)

b) Recycle Bin 8Q00® Fernedmy, I3 Restore @0R3R ¢TI (Files in

Recycle Bin can be restored again)



¢) Recycle Bin3QDE FE R neazodogw Storage 9=, SNTERNR[OY

(Files in Recycle Bin do not take up computer storage)

d) A and B

47. FINTHNTY 03YcD Network Device BN (Which of the following is

a Network Device?)
a) Hub

b) Switch

c) Modem

d) All of the above

48. E maili To200HAT0Z 030w Zewd 003NT? (Which statement is

correct regarding E mail?)

a) G-Mail3Q T933 nog 25 MB mogm File 0=, 350%[2TW (We can

send maximum file size of 25 MB in G Mail)

b) 25 MB mog808 383 Mmogs FHQT ¥ G Mail SRes F50RTI

(Folder size less than 25 MB size can be sent via Gmail)
¢) A 33 B (A and B)

d) 20T o3P 9 (None of the above)



49. 2,000 [T REFT TPos TOIWIY DTOW FTODSeMZH? (What is the

main page of a website called?)
a) Google
b) URL

¢) WWW

d) Homepage

50. FINJTPYNSY 030yYcd Anti-Virus sNQ? (Which of the following is not

Anti-Virus?)
a) Avast

b) Spyware
¢) Quick Heal

d) McAfee



51. MS wordid ZOWoHATOZ 3w 9T BOOITNT? (Which statement is

correct regarding MS word?)

1. MS Wordzg, moRTZ N filenish .doc / docx w02 File Extention
BRI, BROOTZES (In MS Word, usually files have a File
Extension name of .doc / docx)

2. MS Word3Q toggle case 05003 Capital lettern$md, Small letter
NeTRN Tone Small lettern®Dy, Capital letterngmoN
TSRO F IO (Capital letters can be changed to Small letters and
Small letters can be changed to Capital letters by toggle case in MS
Word)

3. Strike through =003 3BT Y 0A[NY 0SS VTS TOTLTID
(Unwanted sentences can be crossed out by strike through)

©o3nsd (Options):

a) Only 1
b) Only 1 and 2
c) Only 2 and 3

d) 1, 2 and 3



52. MS WordsQ Thesauruss 2¢% (Use of Thesaurus in MS Word)

a) 6:503% TRRT 5&%3& ATOPET 30T DTUWFET Ianemy, w3 (To

identify synonyms and antonyms for the selected word)

b) Tred3 BRENS TodewImoN (For checking spelling errors)
c) BYNRYI), 638 [P (To count words)

d) 20edT 29 (All of the above)

53. MS Excel3Q default &N &) work sheet 9d2E? (How many

worksheets are there by default in MS Excel?)
a) 2
b) 3
c) 1

d) 4

54. MS Excel3Q A5 Q0T Al0 STNT FSNFRY, ©0RTPREL0RTNN cell
range 8:95301 83 008 ngﬁﬁefomgd? (How cell range is expressed when

cells A5 to AlO are selected in MS Excel?)
a) A5 -Al0

b) AS5; AlO



¢) A5:A10

d) None of the above

55. MS Excel3Q F2 03T Foefr3es 3¢ $nG? (What is the shortcut
key of F2 in MS Excel?)

a) Go to First cell

b) Edit Cell Content

¢) Save As window

d) None of the above

56. .pptx QHTFHOILONN QTD FHO® DT wrvrrnn O, WIRBROR LTI
RTOTI? (A file with .pptx extension can be opened USING ....emsmeeee. ?)
a) MS Word
b) MS Excel

¢) MS Power point

d) MS Data Base



57. MS Power Point IQ SREEA'S ToeFFses e 0dpzycd? (What is the

shortcut key for Macros in MS Power Point?)
a) Ctrl + F8
b) Alt + F8
c) Shift + F8

d) None of the above

58. DBMS Softwares 2503020, ALEEJO UL Ao fow s NI (The most

important use of DBMS software iS....c.... )

a) T8eesReden” OwEL WY ANFLH (To create and maintain a

database)

b) PPT 3032030 (Prepare PPT)
¢) TYBI), ¥ V@ (To type text)

d) 20edT 3P @Y (None of the above)

59. DB 6.03Q BOF 1S DOW JW W/, LT [REED WIAT N 03WeY3Y)?

(What are the keys used to type the word samskruti in Word 6.0?)

a) sMsfkRti

b) SMsfkRTi



c) smsfkRti

d) SMSFKRTI

60. TOTPIEN TLOTF TR NYY TRNE BSODTY, VO I ITROILD
WEERT LVT° BRCTT mésﬁce e oo o N (A bar code scanner commonly

used in shopping malls to enter the price of items on the bill is a...... )
a) Input device

b) Output device

c) A and B

d) None of the above

61. FENTYNYY YT Qa3 509% 8NQ? (Which of the following is

not a binary number?)
a) 11010
b) 10000

¢) 1111

d) 10102



62. IINIYNSY O@@d% nce3odo3e Calculating Brain <0
380 CER? (Which of the following is called the Calculating Brain of

a computer?)

a) ALU

b) CU

¢) Memory Unit

d) Desktop

63. ﬁsa%oﬁaogﬁﬁ RO0RATOE DOS 3 F 8 BRI D309 (What is the

extended form of DOS for a computer?)

a) Documents Operating System
b) Dual Operating System

c¢) Disk Orientation System

d) Disk Operating System

64. DR 6.05Q BirmrAMB 20w 80" SoRmen A 32 (The word you

get when you type BfrmrAMB in Nudi 6.0)

a) & PT0Y

b) W=0TOL



¢) gRT0

d) 20edT YD ©Q (None of the above)

65. %ow@s@w@/ er%wmw—@s 3¢ BeErrsY ma‘m%mﬁ 33 FSNT IR0 8¢
QUROY? (A computer/laptop keyboard usually does not have a key with

the following name?)

a) Alt Key

b) Turn Key

c) Ctrl Key

d) Tab Key

66. In the following question, out of the four alternatives, select the
alternative which will improve the underlined part of the sentence.
In case no improvement is needed, select "No improvement".

One-third of all prisoners were suffering from a psychiatric disorder at
that time.

a) was suffering
b). has been suffering
c) suffering

d) No improvement

67. Directions: Choose the correct form of tense for the given
sentence:



Does your brother ------------- English?
a) spoken

b) speaking

C) speaks

d) speak

68. Direction: Choose the appropriate option that fills in the given
sentence correctly:

The girls didn't want to spend a long time ----------- the carnival.
a) at

b) until

C) among

d) during

69. The following sentence has been split into four segments. Identify
the segment that contains a grammatical error.

Everyone needs/to have a home/and to feel secured/ and be wanted.

a) and be wanted
b) Everyone needs
c¢) and to feel secured

d) to have a home

Direction: Questions 70-73, Choose the appropriate one-word
substitution:

70. A place of burial



a) Cemetery

b) anniversary
C) contemporary
d) amnesty

71. Government by the representatives of the people
a) Detective

b) democracy

C) nursery

d) mercenary

72. That which is against law

a) lllegible
b) illicit
c) illegal
d) indelible

73. One who has great love for one’s country
a) Patient

b) pedestrian

C) veteran

d) patriot

74. From the given options, select the one which most correctly
explains the given expression.

Equivocal



a) clear

b) determinable
C) certain

d) ambiguous

75. Select the most appropriate word to fill in the blank.

| don't have enough money to -------------- photography as a serious
hobby.

a) pursue
b) assist
c) enliven
d) untie

Direction: In the following questions, 76-80, out of the given four
alternatives, select the one which is opposite in meaning of the given
word.

76. Emancipation
a) Weakness
b) freedom
C) prejudice

d) slavery

77. Unscrupulous

a) Honest
b) tidy

c) friendly
d) clever



78. Arduous
a) Hard

b) easy

C) new

d) noble

79. Fidelity

a) Unfriendliness
b) unfaithfulness
c) improbable

d) harmless

80. Heed
a) Ignore
b) hope

c) depart
d) overtake

81. Directions: Select the most appropriate option to substitute the
underlined segment in the given sentence. If no substitution is
required, select 'No substitution'.

No one are supposed to react to her prejudiced comments.

a) No one has supposed to react
b) No substitution
c) No one is supposed to react

d) No one had supposed to react



Direction: Questions 82-86, Select the most appropriate option to fill
in the blank.

82. The little girl tried to ----------------- the singer.

a) imitate

b) imply
c) languish

d) emit

83. If I had (a) known this yesterday (b) I will have helped him. c)
No error (d)

a)a
b) b
c)C
d)d

84. As returning home(a) he saw a woman with a child (b) begging
for money. (c) No error(d)

a)a
b) b
c)cC
d)d



85. The boys stayed at home (a) ate and slept well (b)and studied
hardly for the examination (c) No error (d)

a)a
b) b
c)c
d)d

86.The sub-marines of India (a) is keeping a constant vigil (b) on the
intruders (c) No error (d)

a)a
b) b
c)c
d)d

Directions: In the following questions, 87-90, out of the four
alternatives, select the alternative which best expresses the
meaning of the idiom/phrase.

87. To face the music

a) To disparage someone

b) To enjoy a musical concert
c) To bear the consequences
d) To be hard of hearing

88. Get on the nerves
a) To lose confidence
b) To become very strong emotionally

c) To be an irritant



d) To become very sensitive; cry easily

89. Pillar to post

a) One place to another

b) To incite others

c) Main support of an object
d) To be reluctant

90. Turn a blind eye

a) Pretend not to notice

b) Hide the ugly truth from someone
c) Stay away from bad habits

d) Not able to see the obvious truth

91. Direction: Select the most appropriate option to fill in the blank.

The -------------- made of ice cream and fruits was liked by the

a) desert
b) dessert
C) deserts
d) Dose

92. Directions: Select the CORRECTLY spelt word.
a) ilegitimate

b) illigetimate

c) illegitimate

d) illegitemate



93. In the following question, out of the four alternatives, select the
alternative which will improve the underlined part of the sentence.
In case no improvement is needed, select,

“No
improvement”.

The monumental inscription is scarcely readable, isn't it?

a) is it?

b) aren't it?

c) isn't them?

d) No improvement

Direction: Select the most appropriate synonym of the given word for
questions: 94-97

94. Disregard

a) Despise
b) Heed

c) Notice
d) Respect

95. Detrimental
a) Injurious

b) destructive
c) beneficial

d) harmful

96. Trivial
a) Important

b) small



C) easy
d) difficult

97. Audacity
a) Arrogance
b) humility

c) mildness

d) cowardice

Direction: Select the most appropriate antonym of the given word
for questions 98-100.

98. Imbecile

a) Mentally weak
b) genius

c) stupid

d) idiot

99. Squalid
a) Disorderly
b) clean

c) dirty

d) dreary

100. Debacle
a) decline
b) downfall



C) triumph

d) degeneration



